-
<
D

tbar{t}} [p b/G evz]

m

ao'ila

2
" cdat
CDI

T

d* {p

=
o
&

1077

[EEY

Ratio to ATLAS

0.5

13000 GeV pp t

= | ' ' ' | ' ' | 2

— top 12

- p. "’ (ATLAS ttbar) ks

~ W ATLAS iR

~  —A— Pythia 6.428 370 |

— --+-- Pythia 6.428 378 =

Pythia 6.428 379 "

| — o

= —.=

- - 1"

- iy -

i |z
™
<
(40
S

L —] O

— 14

m |

- —.=

- mEs

- -8

B —
(@)
=

B o
S
[%2]

B 10

- — O

[ e

_| | | | | | | | I |_ -

:l I 1 L I [ ' I I |:

= —2
1

-  RREEEEEEREEE Foeee . )

B . . B ~0.5

| ] ] ] ] | 1 L : ' :
0 500 1000



	Contents
	Page 1


